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Find the absolute voltages at all the labeled nodes in the above circuit.

SoL'N: Starting at the reference noe, we
SJC?-P \o/y values of voltage sources ‘hat
connect noded.

Note: The differente in absolute voltage
between +wo nodes 1is egual to a vo(tage
soeurce value F +here is only a VoH-Age
Seurc e between the nodes. TIf +there

ts  also a reststor n ceries with +the

voltage sourde, the difference in the node

I/a[-{:ajes Ls —E)r/p?.dqll)/ not eguql +o +he

va/-i—qge Sourde  value . (The E)cCeP‘tf.'i_a/; woi | A

be the rare dase when He drrent cn
the reststor (s eﬁqq( +to zerp.

Here) every nodes Aa/o/oens +to be

Connected to ansther nadle b/ a Uo/-faje

Source, (without a series resis-éor).



Thut,sJ Vg = 16V, ouo'(,nj to the 6V source.

We alse obgerve *hat nodes connedted
lo)/ wires are reall y a Sihcj le  node.
Thus, +the node above the 9V sourde (3 V5.

v, = v

From +the v, node, we step *o the

remain lnﬂ nodes -

Va = 9V — 5V = 4V

l

Vi = 4V + 10V = 19V

QV = bV

3V
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